PGT Geography

Q 1). Who among the following has become the world’s youngest and fastest female para
swimmer to swim solo across the English Channel Successfully recently?

(A) Shivani Kataria

(B) Dolly Nazir

(C) Devanshi Satija

(D) Jiya Rai

Correct Answer: (D)

Q 2). Recently, an Indian-origin lecturer named Prasanthi Ram at Nanyang Technological
University has won Singapore Literature Prize for English fiction for her short story
named

(A) Nine Yard Sarees

(B) House of Cards

(C) Dollar Bahu

(D) The Very Expensive Coconut

Correct Answer: (A)

Q 3). Recently, WHO has declared Dhulikhel Municipality as the second healthiest city in
Asia. This Dhulikhel Municipality is in which of the following countries?

(A) India

(B) Bhutan

(C) Nepal

(D) Myanmar

Correct Answer: (C)

Q 4). If a teacher first explains the rule and then gives examples. Which type learning style is
this?

(A)Inductive

(B) Deductive

(C) Indo-Deductive

(D) Ilustration

Correct Answer: (B)

Q 5). In which stage, children are able to think about things in terms of consistent physical

features?

(A) Sensory Motor

(B) Concrete Operational

(C) Pre-Operational

(D) Formal Operational

Correct Answer: (C)
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Q 6). Which of the following is not the main feature of RTE Act?

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood
school.

(B) Completion of Elementary Education even after fourteen years of age.

(C) Private Tuitions by teachers is not prohibited.

(D) No child is denied admission due to lack of age certificate.

Correct Answer: (C)

Q 7). The countries situated on the north-west international boundary of Indiais .

(A) China and Nepal

(B) Pakistan and Afghanistan

(C) Myanmar and Bangladesh

(D) Nepal and Bhutan

Correct Answer: (B)

Q 8). During geological formations, Limestone is found in association with rocks composed

of calcium carbonates or calcium and magnesium carbonates. It is found in mostly in which

type of rocks?

(A) Sedimentary rocks

(B) Igneous rocks

(C) Metamorphic rocks

(D) Mica mines

Correct Answer: (A)

Q 9). Which are the crops grown with the onset of monsoon in different parts of the country

and these are harvested in September-October?

(A) Zaid crops

(B) Kharif crops

(C) Rabi crops

(D) Plantation crops

Correct Answer: (B)

Q 10). The plain formed from the old alluvium is called

(A) Khadar

(B) Terai

(C) Banger

(D) Delta

Correct Answer: (C)
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Q I1). From the following which type of rainfall occurs as the moist air is obstructed and
forced to rise along the Ghats?

(A) Orographic Rainfall

(B) Convectional Rainfall

(C) Cyclonic Rainfall

(D) Frontal Rainfall

Correct Answer: (A)

Q 12). Who coined the term 'Geography'?

(A) Herodotus

(B) Eratosthenes

(C) Richard Hartshorne

(D) Galileo

Correct Answer: (B)

Q 13). The boundary separating one river drainage basin from another drainage basin is

known by which of the following name?

(A) Catchment Area

(B) Radial Pattern

(C) Watershed

(D) River Path

Correct Answer: (C)

Q 14). Which of the following Pollutants with Pollution pairs is not correctly matched?

(A)Hydro-Carbon - Water Pollution

(B) Carbon-Monoxide - Air Pollution

(C) Alkalinity - Land Pollution

(D) Loudspeakers - Noise Pollution

Correct Answer: (A)

Q 15). The largest tributary of the Indus Riveris .

(A) Chenab River

(B) Ravi River

(C) Jhelum River

(D) Sayok River

Correct Answer: (A)
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Q 16). On the basis of earthquake waves, the correct order of the layer found in the interior of

the earth is from top to bottomis

(A) Lithosphere - Barysphere - Pyrosphere

(B) Barysphere - Lithosphere - Pyrosphere

(C) Lithosphere - Pyrosphere - Barysphere

(D) Pyrosphere - Lithosphere - Barysphere

Correct Answer: (C)

Q 17). Which of the following is not an example of non-metallic mineral?

(A) Sulphur

(B) Phosphate

(C) Nitrates

(D) Lead

Correct Answer: (D)

Q 18). What percentage of the solar energy is reflected by the clouds?

(A) 6%

B)2%

(C)27%

(D) 35%

Correct Answer: (C)

Q 19). What is infant mortality rate?

(A) The number of deaths of children under the age of six years per thousand of the
population.

(B) The number of deaths of children under the age of three years per thousand of the
population.

(C) The number of deaths of children under the age of five years per thousand of the
population.

(D) Number of deaths of infants under one year of age per thousand of the population.

Correct Answer: (D)

Q 20). During photosynthesis, carbon dioxide combines with water in the presence of

sunlight to form which of the following?

(A) Proteins

(B) Amino acids

(C) Carbohydrates

(D) Vitamins

Correct Answer: (C)
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